0002319810867999

0O HBEILZLAY 6—0—>>

2016 4F 1 (A) 283/ 53(];15

3| 3XME f(x)=x+axl+bx+c (a, b, cldER) »hd.

(D) fx)d, z=—-2,tx=1THfEz &), MMV -2THdL ¥,

BNk =B (&3
_ER _Gh o LE
23
o

Y, MAfE, THd.

(2) f(x)H, =—1THAM34%ZEL Y, r=5THuMiz L3+ ¥,

a=[F]), 0=[FEEA, c=[E7]
—6 =-/5 26
LB,

M Fe2)= fFu=0, fir=-2 %3455

flx)= 3x2+20x +b

~ flr2)yz 12-4a+b=0 S 4p=-b=12 @
f,(f)=3+2a+b=0 L 28+bz=-3 @
f(l)zi'l'a'l'b‘i"c:—z a_.,-bd.C:_B @

. gt 3
.5, a=2,b=-6 @QUEIWALT, (=3

s

"~

MAME 13 f-2)7 ~8+4a-2b+C = 5

——

@ fe-n=Fmr=0, f-1)= 34 £
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